NWA MANNED PLATFORM:
STRUCTURAL ANALYSIS

STEVEN SAKLA
HERM STREDDE

MAY 6, 1994

DO ENGINEERING NOTE

7 -EN-4




The manned platform in question was in-house built at DAB. It consists of
four 100" channel beams that were welded to make two 4"x3.4" rectangular beams
5/16" thick. The platform is to be attached to an existing building crane and will
support a load (person) up to 1000 Ibs. (500 Ibs. per beam). The platform will be
bolted to the crane at four points along the beams length (A1, A2, B1, B2; refer to
calculation pages). Since each beam has four reaction supports which are
indeterminate, it is assumed that reaction forces A1 and B]are approximately equal
to A2 and B2, respectively. Since the two beams, the personal fall arrest bar, the
plywood floor, and the bolts which will be used to attach the platform to the crane
are the only load carrying members, they will be the only ones analyzed in this
note. Reaction forces were found to be (refer to drawing/calculations):
A1=A2=4561b., B1=B2=207 Ib. As the calculations in the following pages will
show, a maximum absolute stress (bending plus shear stress) of 4320 psi. occurs at
point A] in the beam. The platform was constructed of 6061-T6 aluminum which
has a yield stress of 40 ksi (safety factor of 9.25) . The "personal fall arrest” bar
was constructed of 6061-T6511 aluminum which also has a yield stress of 40 ksi.
The maximum stress found in this member was 9543 psi (safety factor of 4.2).
This exceeds the minimum required factor of safety of 2 as stated in OSHA
standard 1910.66 App. C. The bolts used were 3/4" dia., grade 8 for points A1 and
A2 and 3/8" dia., grade 8 for points B1 and B2. Both size bolts have a yield stress
of 130 ksi. The 3/4" bolts saw a maximum stress of 1035 psi. (safety factor of
126). The 3/8" bolts saw a maximum stress of 1874 psi. (safety factor of 69). The
last member analyzed in this note is the 3/4" plywood which will make up the floor
of the platform. Maximum stress for the plywood was 220 psi. Since OSHA code
states that all timber carrying members of the platform shall have a minimum stress
grade of 1500 £., 6.8 is a minimum factor of safety for the plywood floor.
According to these calculations, the manned platform is found to be structurally
safe, well within the required factors of safety, and in compliance with OSHA
standard 1910.28 (ANSI A10.8-1969, Safety Requirements for Scaffolding).



SUMMARY:

YIELD STRESS:
6061-T6,T6511 ALUMINUM= 40 KSI.
1500 f. PLYWOOD= 1500 PSI.

MAX LOAD=1000 LBS (500 LBS. EACH BEAM)
A1=A2=456 LB., B1=B2=207 LB.

BEAMS:
MAX. STRESS=4320 PSL, FACTOR OF SAFETY= 9.25

PERSONAL FALL ARREST BAR:
MAX. STRESS=9543 PSI, FACTOR OF SAFETY=4.2

PLYWOOD FLOOR:
MAX. STRESS= 220 PSI., FACTOR OF SAFETY= 6.8 (MIN.)

BOLTS:
MAX. STRESS=1035 PSL, FACTOR OF SAFETY=126 (3/4" BOLTS)
MAX. STRESS=1874 PSIL., FACTOR OF SAFETY=69 (3/8" BOLTS)




T B = et
- 5.
- -
/ b
.-
1 — 1
1 < } |
o
T o 7
t14 - N
L: T # v!w-u”
-
[v") .
1 T -
1 l 1 1

T,
f e §

AlE]

111




(o

Sy

B
o -?——:——z:-‘{z'——'Tn‘fi"-"—T——P x

e FERMILAB ‘ SECTION PROJECT SERIAL-CATEGORY . |PAGE
3 ENGINEERING NOTE S R
SUBJECT NAME
4% 29" Beams oaTe AEVSION BATE
P o x
..;,4.;7_»4..__4,2 e 7 o e 531»11
. — l Acome: A =4,
e Aty B %<8,
Zh, - 23 =S00 |
Z Mgt 3B, +73(a0) — HA-SA=0 - o
A= gz“-/:'?fa:
b= B, = 20% .
v 1By
- 7"
?’ .
L )M V=@, "207 M= 8/: 207 (3)= 150 1h-m
7 :
o< X< ? , -
8, By ] -
l LM vera)qg® M= B f +B,(r;7?5
v < Y3437 /bn
(44 6' n b" ¥ A!
TR F
[ AR Mo B, (e r B, () = AR

49, + 428, + (B +RA
5 537 /b=t

no

3 v M

L Y= B+, -B R 0*

ﬁ' B, (56t x) F B, (44X R, (Frx) - ﬂ,_';t

- —
T—

-
—

5B, 1B, - 30, + (B 1By = A=A
15593 Jbrin




~‘:Lﬁ * FERMILAB . ?ECT)ON A PROJECT . SERIAL-CATEGORY PAGE
‘I =& ENGINEERING NOTE | = EEER B R
e SUBJECT NAME
) " 7 -
’Nj L/ X 5«/ 859/‘43 |oare AEVISION DATE
?/5', N
T2 VR Pl
/T’)L/ T = 9
/
‘/‘ /| | v g’r O.60375) 2.1 (0 . 325) +2 [ (0 /325006075 ) (0. 3125)]
| (3.9) Co.325) + (tigpsd(0325)
5’ = LS Q= OhEn)(15%5Y= 2. 60,3
A = 1-STm®
Omax= (18837 Ib-nd(2in) - o73ps/
225”1;;?
o;,,,%; 734297 = 9320 pss
ﬂmﬂx- (99/5> (Z%M‘,‘) 27}}5/
(%2529 (0,625m) oome
Fy o= =925
— 7320 —m—
-

«




)

r B - et e b ke = bbb e 51 bl | . s s . U UP S

* FERMILAB SECTION PROJECT SERIAL-CATEGORY PAGE
W ENGINEERING NOTE I
PCVNOD N A’/W?'LVSL'S ,  [oare REVISION DATE
= 227 ;»l
ji"

( 3/ o ﬂ’rﬁ?c& )

o= M —— TRo#  Maees STrnoto Huose. Fee
kT Me et Eng/reeres (. -3¢/

where k= 150 T= #757.,1) c= 3%’

IM'L

#\\
”" -
¢ ! '
L |
vyt : v
] _ 3 .

| i a ‘l 2

Foom ThE F 0F - movE peFerenNcE.

zidk .
) "?\L )BM V"ZSD& '
T W M= 2soli)s 000 i o=(100015-,) ( s 1)
o - x . | 1.5 (#95912%)
29 ' - P N . ; ’ .
. wo“' s o 200/99/
- j/ 'T V= 1600 - ¥50 = 250”“'
T{ i % Y )N .. M= Govo-s00)(x) = 2s0(letx)
= —y - o
. ; pd =~ Yor0 + X
22 5«3’ o }50’

071&.,5 'ZOC?ém’
Twaxe 15K, /5(&50) 1%psi ‘ ‘
H A ?5&&

FnchoPSﬂrFe*T‘l zzo - 4.8




) * FERMILAB SECTION PROJECT SERIAL-CATEGORY PAGE

7| 3¢ ENGINEERING NOTE |
/'\; Y Pe-esam -F;\,(L 9,&/26’37" Bﬁ'ﬁ A’NR?X'/‘“S  |pate REVISION DATE

% ousd e
7!
205 ‘ =] \
1 o =)

'S 00D
— Ha=Mg = 10250 lb-in

Pl . |
Gl e

>x
Orax = ('OZSO’b';Q(f-SI;): 2110 psi
/,68?5137
= 10875 = 72 (0.39) (0. 08P o
o T= 0835 - 12(0.39)00.665702 [ 667 m
N
P | Ve ¥ ‘
C 'I ‘% l DM M= Mg~ 300(10.25) = Sizs lb-m
~ | Mg v 0= (5125044 - [0psi.
<( 1 6C?! '
. /C\'mnxz /16 _y_.. 1'5(5730) - Y32 g/' E’#"‘? L

’3/ (3—9.6%')
‘{
Facrue  of gﬁﬁ” ?95’3 g




FERMILAB BECTION PROJECT SERIAL-CATEGORY PAGE

.," ‘1\“: V—-—
3 ﬁ? ENGINEERING NOTE

I NAME
— }/‘/ ” e{' 3/8 ” % oLTS Joate REVISION DATE
3" Routs (us:;f) AT POINTE A,_ ‘: 9,,>°»
A= f(o.és’%z 0.441% in* Cn® 4571 _ /035 ps
F= 457 % 0. PIE
12p00°
F.5= s = /26
3/8 " Raers Cossp AT Pows 3, ‘:3-..) :
= 209% Coix = 20715 _ 1539py/
< . S—————————— *
— As 1r (0.375 % = 0. 11095 ia* 0. /oS 1n™
( _ L2000
F52 Ty = &3




